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7 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 0.00 ~ 4.69 5846 | FnS | 000 ~ 469 | 1.83 9.79 Thlst 1.00 | 6.00 ~ 6.00 58.46 | =h4 | 5.00 ~ 6.00| 1.83 979
2 100kN/m%E#8z5| 1.00 | 000 ~ 1.70| 12607 |3m&E#BzZB| — ~ — — — | 100kN/miZ#825 | 1.00 | 1054 ~ 1640 126.07 |3mEBZ5 - ~ — — —
s 1.00 | 170 ~ 949 100.00 | =nLst | 0.00 ~ 9.49 | 2.40 12.87 Thst 1.00 | 6.00 ~ 1054 100.00 | =nLSt | 6.00 ~ 1640 2.40 12.87
3 100kN/m%E#8z5| 1.00 | 000 ~ 1.93| 12973 |3m&x#BzB| — ~ — — — | 100kN/mi%#825 | 1.00 | 1085 ~ 1940 129.73 |3mEBZ5 - ~ — — —
st 1.00 | 1.93 ~ 9.71 100.00 | #nst | 000 ~ 9.71 | 2.25 12.04 Thst 1.00 | 6.00 ~ 1085 100.00 | =nLS | 6,00 ~ 1940) 2.25 12.04
4 100kN/m%E#8z5 | 1.00 | 000 ~ 192 12960 |3m&E#BzZ5| — ~ — — — | 100kN/ Mm% B2z | 1.00 | 11.07 ~ 2041 129.60 |3m%E#ZB -~ — — —
ZhLst 1.00 | 192 ~ 9.71 100.00 | #hst | 000 ~ 9.71 | 2563 13.62 zhLst 1.00 | 6.00 ~ 1107 100.00 | =0t | 6.00 ~ 2041 2.63 13.52
5 100kN/m#z#Z5| 100|000 ~ 198 130.60 |3m&EEZB| — ~ — — — | 100kN/mM%E#B25 | 1.00 | 1099 ~ 20.51 130.60 |3m%E#Z5 -~ — — —
s 1.00 | 198 ~ 9.77 100.00 | =nLst | 000 ~ 9.77 | 2.23 11.92 Thst 1.00 | 6.00 ~ 10.99 100.00 | =hLSt | 6.00 ~ 2051|223 11.92
p 100kN/m%#8%z% | 1.00 | 000 ~ 265 14172 |3mEBz3B| — ~ — — — | 100kN/m%#825% | 1.00 | 1058 ~ 2380\ 14172 |3m&E#BZ5 - ~ — — —
s 1.00 | 265 ~ 1044 100.00 | #nLSt | 0.00 ~ 1044 | 2.65 14.16 st 1.00 | 6.00 ~ 1058 100.00 | =nLst | 5.00 ~ 2380 2.65 14.16
7 100kN/m%z#Z5| 100|000 ~ 227 13533 |3m&E#z25| — ~ — — — | 100kN/miZ#825 | .00 | 11.05 ~ 2380 135.33 |3m&EBZ5 - ~ — — —
ThLst 1.00 | 227 ~ 1005 100.00 | #hst | 000 ~ 1005( 2563 13.564 Zhst 1.00 | 6.00 ~ 1105 100.00 | =hst | 6,00 ~ 2380| 2.63 13.64
g 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8 %% — - ~ — — |3m%EEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 467 5818 | =nst | 0.oo ~ 0.00| 1.62 8.66 zhst 1.00 | 6.00 ~ 56.00 5818 | #nLS | 5,00 ~ 6.00| 1.62 866
100kN/MZ#2Z % ~ 3ImEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhs ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/M%#8Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3ImEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEBRD ~ 100kN/mM%E# 25 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zhust ~
100kN/MZ#82 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zhust ~




